C
‘ 1N A A
—500 A ’
[ ] A
T T T T T T
0 WW«A/‘-
';' ‘ T T T _|J T . T
=
> 500 A
C
(0]
S Esssmsssssssgmss0 L L M.
g (] T T T T T a T
Y—
o 1000 +
(9
C
p
o | EEmsSsmmssessmseenasein 0 0, L
E T T T T T a T
2 1500 1
WY
T T T T . T . T
2000 -
TIINTNTTNTTT
- [ ~
T 1 T T T T T T T
100 200 300 0 20 40 0 500 1000 1500
Time [ms] Time [ms] Frequency [Hz]
y
= 200 1.4 U % v
< 0 T T T T T T T T
E
C
o
£ 200 A r"HI W’
=}
'c P—
[e]
E 0 T T T T T T T T
—750 —-375 0 375 750 1125 1500 1875 2250
Difference frequency [Hz]
0.0 0.5 1.0 1.5 2.0 2.5 3.0 3.5 4.0

EOD multiples



